DURBIN INDUSTRIAL VALVE

/ADURBIN ANGLE DRAIN VALVE

DURBIN ANGLE DRAIN VALVE PARTS LIST

N’

vy

N

o
S

%

A

N
U
\/ \

N

= %:gg\x =

TR &

q A NN —©

V'\ XY ®

M N\ 0

;&’\\\\ <A &
S e
2@

7

©),

Please contact us for more information at Phone: 330.724.9968 Email: valve@durbinvalve.com Website: www.durbinvalve.com



/ADURBIN ANGLE DRAIN VALVE

DURBIN INDUSTRIAL VALVE

DURBIN ANGLE DRAIN VALVE PARTS LIST

ANGLE DRAIN VALVE

VALVE NUMBER DV20S DV30S DV40S DV50S
SIZE 3/4" N/O 1"N/O 11/4"N/O 11/2"N/O
Cv RATING Cv 26 Cv 28 Cv 32 Cv 45
DESCRIPTION PART # PART # PART # PART #
1 LID C293-023DR | €C293-030DR | C293-030DR | C293-030DR
2* LOWER DIAPHRAGM C333-053D | C333-051D | C333-051D | C333-051D
3 RING C893-015D-SS|C893-022D-SS[C893-022D-SS|C893-022D-SS
4 LOCK WASHER H175-21 H175-21 H175-21 H175-21
5 HEX BOLT 3/8 H096-55 H096-50 H096-50 H096-50
6 YOKE DV258-SS DV58-SS DV58-SS DV58-SS
7 PACKING GLAND DV259-SS DV259-SS DV259-SS DV59-SS
8* GASKET C383-074D | C383-074D [ C383-074D | C383-028D
9 PACKING GLAND BUSHING DV522 DV522 DV522 DV522
10 RETAINING RING HO090-19 H090-19 H090-19 HO90-19
11 STEM DV211 DV311 DV311 DV511
12 DISK WASHER DV212 DV312 DV312 DV512
13* SEAL DV223 DV323 DV323 DV513
14 STEM NUT DV214 DV314 DV314 DV514
15 BODY DV234-SS DV334-SS DV434-SS DV534-SS
16 LOWER PISTON DV221-IC |C783-081D-AL|C783-081D-AL|C783-081D-AL]
17 SPRING RET C883-321D | (C883-321D | C883-521D
18 HEX JAM NUT 5/16 C133-008D | C133-008D | C133-008D | C133-008D
19 NO SPRING D293-070DR | D293-070DR | D293-070DR | D293-300DR
20 HEX BOLT 1/4 H096-10 H096-10 H096-10 H096-10
21 HEX NUT 1/4 H060-03 H060-03 H060-03 H060-03
22 PACKING NUT BUSHING VP524 VP524 VP524 VP524
23 PACKING NUT C853-092D | (€853-092D | C853-092D | (C853-092D
24 PACK NUT ASSY C853-090D | C853-090D [ C€853-090D | C853-090D
25 YOKE RET NUT DV231-SS DV231-SS DV231-SS DV531-SS
26* BLACK PACKER C683-070D | C683-070D | C683-070D | C683-070D
27* WHITE PACKER C683-069D | C683-069D | C683-069D | C683-069D
28 PACKER SPREADER C713-012D | C713-012D | C713-012D | C713-012D
29 PACKING SPRING D293-104Y D293-104Y D293-104Y D293-104Y
30 PACKING KIT C242-015D | C242-015D | C242-015D | C242-015D
31 YOKE SPACER DV315 DV315
32 TOOTH WASHER H177-05 H177-05 H177-05 H177-05
15-F BODY DV334F-SW DV534F-SW

Please contact us for more information at Phone: 330.724.9968 Email: valve@durbinvalve.com Website: www.durbinvalve.com





